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(Hint : first  find k where  a = kxy )

1. The weight of a cylindrical metal pole varies as its length and the square of its diameter. A pole 47 inches long with a diameter of 3 inches weighs 32 pounds. Figure out k to four decimal places.
Calculate the length of a pole with a diameter of 7 inches and weighing 45 pounds.

2. Calculate the weight of a pole that is 50 inches with a 5 inch diameter.
3. Calculate the height of a pole that is weighs 20 pounds and has a 2 inch diameter.

4. Calculate the diameter of a pole that is weighs 30 pounds and has a 7 inch diameter.

5. Calculate the length of a pole that is weighs 60 pounds and has a 1 inch diameter.

6. The number of gallons a car uses varies directly on the distance travelled and the square root of the average speed. A car using 16 gallons for a journey of 341 miles at an average speed of 50.  Figure out k to 4 decimal places.
How many gallons would you need if you went 70 miles per hour?

7. How many miles could you go with 20 gallons of gas, at 40 miles per hour.

8. How many miles could you go with 20 gallons of gas, at 80 miles per hour.

9. What speed would you need to travel to go 500 miles with 20 gallons of gas? (harder)
10. How many gallons would you use if you went 35 miles an hour for 200 miles?

